i
I
iy
Tl
P=ai
i

1. ¥4
4 A6 FEFEEPIIEE b oL
BT AT AP [EE B ATE N

2. EHEAR

1) FHEI4

2) JEATHIM

U | EEF BT

151 H 4

S P

H &% 64 7TH23H
E S 6512H20H

3) PN

4) EBNE

=R oS KN o723 S



TR AR

Tl
>

HEHA | A6 FEEAYIIEE b oL s RS ¥ M RE S
H H TE S fi AR R
THH - TR - FE5l LA ¥ = & A BN AR
T HERR AR oy 1 10, 150, 475
ko RV E ] AR X 1 10, 150, 475
S e YA X 1 1,072,755 | atmE Y
3 =%
ZORHIN SR AT
3 =%
B Hh A

3 =%
BETRISES & D& BHER
3 =%

b oVER AR (B Y 1 2,380,617 | FCHEEM - 4TEMA - il (0.0<C
=0.1) 7, 304 m2
WCHERAE - FTEMRA - il (0.1<C
=0.2) 3, 830 m2
THEEM - FTERAE - 2 (0.2<C
<0.3) 8, 835 m2
TR - FTEBRAE - 2 (0.3<C
=0.4) 757 m2
THEEM - FTEBRAE - 2 (0.4<C
) 158 m2
b FVER AR () = 1 3,438,377 | WTHEE ML - FTHEMA - il (0.0<C
<0.1) 15, 824 m2
R - FIERA - il (0. 1<C
<0.2) 15, 821 m2
THEHM - fTEBRAE - 2 (0.3<C
<0.4) 561 m2
THEEM - FTEBRAE - 2 (0.4<C
) 238 m2
EL2MEOB M K 1 671,400 | fatEoBMr

3 =%

- Etzz@y  AbkEt 5w R



it
T
iy
%lljll

=
=

EBL | D6 FEE Y IEE b v RV RRER R REES
H H T HE R AR
THH - TR - R H AL # & #H E T N
R o U R T VAR = 556,206 | b o R UAHE SRR
1 [N V%
A #; 1,903,920 | #EEDMERL
3 =%
TEW SRR R O Mk
3 =%
8B AR AR X 127,200 | Z3BA A ECSR G VERR
1 =
I = 591, 500
HiE GRE - FHEES) X 591, 500
TEE ey 591,500 | T4
1 =
[R5 S 2V 1, 589, 961
[ERETYE X 1, 589, 961
TR R = 157,971 | fc#y (GREELE - 50
1 K
ATy 2 172,000 | 7R A IER T
1 K
FEMIAR LY oy 849, 029 | EPTIEEH
1 =K
EI T ESE
1 K
RS E = 410,961 | ZZWFHEE A (BH)
2 A
ZEFHEEB (B
10 A
REFEEA (KH)
2 A

=R oS KN o723 S



EW4 | A6 EEARIIEE b kLS RER ER BEES
H H EERE
TEHA - LfE - R =AY VA ¥ & & #H OB N AR
RiBHEE B (KH)
6
PRk
1 =X
It ik
1 K
EEFAM (2 OMFEMmER <) oy 1 12, 331, 936
& DAt AT = 1 5,709, 224
— i B 2V 1 9, 708, 840
SRR 2V 1 27, 750, 000

3= Etzz@y  AbkEt 5w R



